| Composite Functions: | When two functions are combined into one function.

f(g(x)) is read as "f of g of x" gbﬂ;gwmﬁo@

Given these two functions: f(x) = 3x?-7 and g(x) = 2x+4

a. Find f(%(?) b. find g(ﬁ%o)) N
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Use substitution to write and equation
with only the variable x. Then simplify.
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Another way to write a composite is:

fgx)| =|(fe2)(x)

Use these two functions:
f(x)=x+95 g(x) =3x-2

Find (g0 (1) Iy = s = o
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Given f(x)=11x-8

Find f(m + 2)
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Use these two functions: f(x)=6x-5

Find and simplify
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gx)=2x+3



